-X"2 - 3Xx - (-x"2 - x ) = -2X

(x+1)(x*2-x-2) = x"3 - 3x - 2
xN2-x-2=0

PoHanba PewuraH

COW (3Be3gHble BOWHbI)
MraHTCKMe KocMmyeckme
nasepbl (MynsTUKN)

HacCTosLLMe nasepsbl
[MTontoc (70 TOHH)

2:2,1 X1x2 = -2
X1+x2 =1
+-2/1 2 -
+-1/1
answer : -1, 2, -1
2,-2,1.-1
x=1
1-3-21=0
x=-
-1+3-2=0
X3 + 0*x"2 - 3x -2 | x+1
xA3 + x"2 XN2-x-2
-x"2 - 3x
-x"2 - X
-2X - 2
-2X - 2
0
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15 maa 1987 PH OHeprus
(pakeTta 100 TOHH) lNontoc
noneTten B KOCMOC

[loHCene

NPOEKTUBHAS
reoMeTpus

6oeBoro pobora

N dHannTn4ecKkas rOTOBbIN ABUXOK
V7 NPOeKTUBHAasA OT microsoft
reomeTpus (B
KoopauHaTax)



